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2009 Block and Bridle Stockmens Contest - Senior Quiz
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1. Which feed has the lowest protein content?

a. Corn


b. Soybean Meal 

c. Oats

d. Barley
_____
2. Which animal has the highest Dressing Percent (Carcass weight/live weight)?


a. market steer

b. market lamb

c. market hog

d. market goat
_____
3. What factor determines the accuracy of an EPD value for a bull?


a. The EPD of his sire



b. Number of calves he has sired


c. Breed Average EPD for the trait

d. EPD of his dam
_____
4. Which of the following forages are poisonous for goats?

a. orchard grass



b. fescue


c. oak leaves



d. azalea leaves
_____
5. Which grade or score is most closely related to reproductive performance of a cow - especially related to how soon she comes back into heat after calving?


a. Frame Score
b. Quality Grade
c. Condition Score
d. Yield Grade

_____
6. An animal that has a coarse hair coat, is lethargic, anemic, losing weight, and has diarrhea is most likely suffering from what?


a. CAE (caprine arthritis encephalitis syndrome)

b. ketosis


c. parasites





d. shipping fever
_____
7. Which statement is true regarding mineral consumption?
a. Goats require more copper than sheep, but less copper than cattle





b. Zinc is required for a healthy immune system in pigs


c. both  a & b are correct









d. copper should be added to the mineral supplement for sheep
_____
8. Bacteria help cattle, goats, and sheep digest fibrous feeds.  In which organ is the greatest number of bacteria found?


a. Liver

b. abomasum

c. Gall bladder

d. Rumen

_____
9. A pig eats 385 lbs of feed and gains 130 lbs for 70 days.  What is the feed efficiency?


a. 3.0

b. 3.5

c. 2.0


d. 2.5
_____
10. A lamb carcass weighs 60 pounds, has .15 inch of fat over the last rib, and has a loineye  area of 1.0 square inches.  This carcass is

a. too fat


b. heavily muscled



c. light muscled


d. acceptable in all areas
e. too small
_____
11. Which of the following structures is not involved in reproduction?

a. cervix
b. epididymis

c. abomasum 
     d. caruncles
_____
12. A cow found in standing heat this morning should be artificially bred when?


a. this morning
b. in 24 hours
c. this evening

d. it’s already too late
_____
13. Compared to this same time last year, prices of feeder cattle and market steers now are?


a. higher
b. lower
c. about the same
d. none of the above
_____
14. During natural service, semen is deposited into which part of the cow?


a. cervix

b. uterus
c. fallopian tube
d 
d. fornix vagina
_____
15. Which of the following factor(s) are used to determine the yield grade of a steer?

a. 12th rib fat thickness
    b. ribeye area      c. hot carcass weight
         d. % KPH      e. all of the above
_____
16. In which form is most beef consumed in the United States?


a. steaks
b. ground beef

c. barbecue

d. roasts
_____
17. Which hormone is responsible for maintaining pregnancy?

a. progesterone       b. luteinizing hormone
 c. Follicle stimulating hormone

d. estrogen
_____
18. Which of the following is given to an animal to prevent disease?


a. GnRH



b. antibiotic


c. dewormer



d. vaccine
_____
19. Which breed of cattle is known for a moderate frame size, producing carcasses with well-marbled, fine-textured beef with minimum trim, and are mostly black and polled?


a. Chianina



b. Charolais

c. Angus



d. Main-anjou
_____
20. Which cut of meat comes from the short loin retail cut on a steer?


a. rib roast
b. porterhouse steak
c. sirloin steak 
d. ribeye steak
_____
21. Which of the  following statements is true?
a. Goat meat is 50%-65% lower in fat that similarly prepared beef


b. Goat meat has a similar protein content to beef meat

c. 3 ounces of cooked goat meat has more iron content than the same amount of cooked beef, pork, or lamb

d. all of the above are true
_____
22. Maternal Milk EPD in beef cattle or sheep is expressed in what units?


a. Pounds of milk production
       b. Pounds of weaning weight that is due to milk production

_____
23. What is the major problem for a lamb or calf with scours?


a. starvation
b. dehydration

c. fever

d. bacterial infection

_____
24. If a steer’s warm carcass weight is 800lbs, and its live weight was 1300lbs at slaughter, what is the dressing percent?

a. 61.5%

b. 66.5%

c. 71%

d. 52.3%
_____
25. Which forage is most productive during drought conditions?


a. orchard grass

b. white clover

c. bluegrass
d. alfalfa
